

10/25/2018

**Vendor Ranking** 

Page 1 of 1

Letting: 02181017 October 17, 2018 11:00 AM Call Order: 003 Contract: E2Y03-R0

District: District 2 Counties: DIST/ST-WIDE Fed Aid No: N/A

**Project(s):** 41022147204 (\*) Contract Time: 365 CALENDAR DAYS 41022137204

Contract Desc: Provide MOT equipment and services for 18 counties Dist 2.

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ACME BARRICADES, L.C.	Responsive	Winning bid	\$492,296.65	100.00%
2	BOB'S BARRICADES, INC.	Responsive	Non-Winning Bid	\$569,942.19	115.77%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

ACTUAL COMMITMENT AND FINAL EXECUTION OF THE CONTRACT IS CONTINGENT UPON AN APPROVED LEGISLATIVE BUDGET AND FUNDS AVAILABILITY. POSTING BEGINS NOVEMBER 05, 2018, AT 5:00 P.M. AND ENDS ON NOVEMBER 08, 2018, AT 5:00 P.M.





#### **Tabulation of Bids**

Page 1 of 4

Letting: 02181017 October 17, 2018 Contract: E2Y03-R0 Call Order: 003

District: District 2 DIST/ST-WIDE Fed Aid No: N/A Counties:

Contract Time: 365 CALENDAR DAYS **Project(s):** 41022147204 (\*) 41022137204

Contract Descr: Provide MOT equipment and services for 18 counties Dist 2.

Furnish, install, maintain and remove traffic control devices, and services for maintenance of traffic to various structures in the eighteen (18) Counties comprising District Two, District-wide. Maximum Limiting Amount - \$650,000.00. RENEWAL OPTION. BID EXPRESS MANDATORY. Submit with the bid, a letter of reference from one (1) company or government agency that indicates the company names in the bid is engaged in or has satisfactorily completed a contract within the last three (3) years as the prime Contractor on a Maintenance Contract.

Line No / Item ID Alternate Item Description	Quantity Units	(1) ACME BARF	RICADES, L.C.	(2) BOB'S BAR	RICADES, INC.		
( ) indicates item is bid as Lump Sum	J	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 SIG	NS (GROU	ND SIGNS OVER 3	0 SQ FT)(UN)				
0005 0102 21  MAINTENANCE OF TRAFFIC- TEMPORARY BRIDGE CLOSURE (BOTH ENDS OF BRIDGE)	26.000 LO	150.00000	3,900.00	115.00000	2,990.00		
0010 0102 21  MAINTENANCE OF TRAFFIC- TEMPORARY BRIDGE CLOSURE (BOTH ENDS OF BRIDGE) Maintenance of Traffic		150.00000	300.00	115.00000	230.00		
0015 0102 22  MAINTENANCE OF TRAFFIC- TEMPORARY BRIDGE CLOSURE (BOTH ENDS OF BRIDGE), MONITORING	28.000 ED	100.00000	2,800.00	115.00000	3,220.00		
0020 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY	53.662 ED	125.00000	6,707.75	50.00000	2,683.10		
0025 0102909 TEMPORARY RAISED RUMBLE STRIPSPER DAY, INCLUDES ALL SETS AND RELOCATIONS	28.000 DA	200.00000	5,600.00	25.00000	700.00		
0030 E101 1 1 MOBILIZATION	324.000 LO	0.10000	32.40	790.00000	255,960.00		



Page 2 of 4

## Florida Department of Transportation



## **Tabulation of Bids**

Letting:	02181017	October 17, 20	18 <b>Ca</b> l	II Order: 003		Contract:	E2Y03-R0	
Line No /		nate Quantity Units	(1) ACME BARI	RICADES, L.C.	(2) BOB'S BARI	RICADES, INC.		
() indicates	s item is bid as Lump Si	um	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	SIGNS (GROU	ND SIGNS OVER :	30 SQ FT)(UN)				
	1 72 DN (EMERGENCY	15.091 EA	5.00000	75.46	35.00000	528.19		
	2 1 2 CE OF TRAFFIC (SI DNTRACTS)	26.220 TE DA	200.00000	5,244.00	350.00000	9,177.00		
	2 1 3 CE OF TRAFFIC (SI DNTRACTS)	346.000 TE LO	950.00000	328,700.00	500.00000	173,000.00		
	2 10 AW ENFORCEMEN	1,572.000 T MH	40.00000	62,880.00	45.00000	70,740.00		
	2 20 LIGHTING UNIT (MA	22.852 ST ED	20.00000	457.04	75.00000	1,713.90		
	2 97 1 INTED ATTENUATO Y)	168.000 PR ED	200.00000	33,600.00	250.00000	42,000.00		
	2100 ENANCE SERVICES	140.000 HR	300.00000	42,000.00	50.00000	7,000.00		
	NS (GROUND SIGNS OVER 30 SQ FT)(UN		1	\$492,296.65		\$569,942.19		



10/25/2018

## **Tabulation of Bids**

Page 3 of 4

Letting:	02181017	October 17, 20	18 <b>C</b>	all Order: 003		Contract:	E2Y03-R0	
Line No / Item		e Quantity Units	(1) ACME BARRICADES, L.C.		(2) BOB'S BARRICADES, INC.			
( ) indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	Contract G	rand Totals:		\$492,296.65		\$569,942.19		



10/25/2018

**Tabulation of Bids** 

Page 4 of 4

Letting:

02181017

October 17, 2018

Call Order: 003

Contract:

E2Y03-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

ACTUAL COMMITMENT AND FINAL EXECUTION OF THE CONTRACT IS CONTINGENT UPON AN APPROVED LEGISLATIVE BUDGET AND FUNDS AVAILABILITY. POSTING BEGINS NOVEMBER 05, 2018, AT 5:00 P.M. AND ENDS ON NOVEMBER 08, 2018, AT 5:00 P.M.